Question No : 1 of 26

Marks: 1 (Budgeted Time 1 Min) =

Area of a circle of radive r (A=T] 1) iz a finction of

-

Answer | Please select your correct option )

One vatiable
-

Twre variables

Three variables

Constant

Yeade By: Wadger Siddhu




Question Mo : 2 of 26

Marks: 1 (Budgeted Time 1 Min) =

77 is an example of -----emeee-

-

Answer | Please select your correct option )

Trrational munbers
-

Rational numbers

Integers

Natural numbers

Yeade By: Wadger Siddhu




Question Mo : 2 of 26

Marks: 1 (Budgeted Time 1 Min) =

77 is an example of -----emeee-

-

Answer | Please select your correct option )

Trrational munbers
-

Rational numbers

Integers

Natural numbers

Yeade By: Wadger Siddhu




Question No : 3 of 26

Marks: 1 (Budgeted Time 1 Min) =

Eruation of the parabola opening downwards 15 . . .

where a=0.

-

Answer | Please select your correct option )

y=ax +hxte
P

y=-axi+bx+c
P

y=ax’ —bx+c
.
- y=ax -bx

Yeade By: Wadger Siddhu




Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

TWhich of the following has the general equation of the form ax + by +ez +d =0, where a,b,c,d are real numbers.

Answer | Please select your correct option )

Circle
-

Dlane

Line

Curve

Yeade By: Wadger Siddhu




Question No : 5 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

If rectangular co-ordinates of a point are (1, ﬁ = 2}, then value of "t" in cylindrical co-ordinatesis .. . ..

Answer | Please select your correct option )

|
2
g 2J§
s 242
Yeade By: Wadger Siddhu




Question Mo : 6 of 26

Marks: 1 (Budgeted Time 1 Min) =

Suppose f(x, ¥) = x2™ . Which of the following options is correct?

-

Answer | Please select your correct option )

- %=3}}2’0‘
¥ _ 3w
fo 3 xe
¥ _ i
‘a) g—xe
o i=J.jye"“' -
Yeade By: Wadger Siddhu




Question No : 7 of 26

Marks: 1 (Budgeted Time 1 Min) =

2 2 2
For a finction Jixzy.2) , the equation ¥+82—f +¥ =0 iz known as --—-
d*x  Fy 0%

-

Answer | Please select your correct option )

(Gauss Equation
-

Euler’s equation

Laplace’s Equation

Stoke's Equation

Yeade By: Wadger Siddhu




Question Mo : 8 of 26

Marks: 1 (Budgeted Time 1 Min) =

3

If f(x,») and all of its partial derivatives are continuous then i

h?

Answer | Please select your correct option )

*f
~ | ax?ay

*f
o | dxdp?

F7E

| B

Wede By: Wageir Siddhu




Question No : 9 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

If w=f(z) andz = gir,5), then Z—w=
K]

Answer | Please select your correct option )

ow ds
O a5 ae
dw dz o
2l JERRFR
dw dz
20 IERP
dwdz  cwdz
Claor oo -
. Yheade By: Weadgelr Siddha




Question Mo : 10 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

r o B g s : r 4
Iftwo vecters @ and & have the relation @ = Ab where A1 a none-zero scalar then aand & are ... ... ... to each other.

Answer | Please select your correct option )

Crthogonal
-

Hon-parallel

Darallel

MNone of these

Yeade By: Wadger Siddhu




Question Mo : 11 of 26

Marks: 1 (Budgeted Time 1 Min) =

For afinction z = #(x, ¥}, the total diferential is defined as . . . .

-

Answer | Please select your correct option )

- dz = f(xy)dx = f, (x, y)dy

dz = filxy)dn + f, (x.p)dy

dz = flxp)dy = f, (x.phda

dz = f(xy)dy + f, (x.y)dx

Yeade By: Wadger Siddhu




Question Mo : 12 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

For afunction 7 (x,») to have both absolute masimum and minitnum, it rust be Continuous on . ... ... ... co...osetR

Answer | Please select your correct option )

a clesed and bounded
-

an open and bounded

aclosed and unbounded

an open and unbounded

Yeade By: Wadger Siddhu




Question Mo : 13 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

To find the crtical points of a finction f(x, ), we put £, = f, =

Answer | Please select your correct option )

1
-

MNone of these

Yeade By: Wadger Siddhu




Question Mo : 14 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

At the critical peint (xy, ). ifD=fw(xoyo)fw(xoyo)—fwg(xoyo) >0 and F(xye)<Othen F has.. . ....... ... ...

Answer | Please select your correct option )

Saddle pomt at (x,,)3)
P

Mo conclusion can be drawn.

Relative mazimum at (x,, 1)

Relative mininun at (%, ¥)

Yeade By: Wadger Siddhu




Question Mo : 15 of 26

Marks: 1 (Budgeted Time 1 Min) =

The Extreme value theorem iz applicable if the function 7{x,») is.

on the closed interval [a,b].

-

Answer | Please select your correct option )

Centitmous
-

Differentiable

Defined

Defined and differentiable

Yeade By: Wadger Siddhu




Question Mo : 16 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

Let x, .z be the length, width and height of an open rectangular box. The surface area of the boz will be . . .

Answer | Please select your correct option )

A=xyp+2yz+2lxz
-
A=rz+4
-
A=xz+yz+zx
P
A=zyz
L9 -
Yeade By: Wadger Siddhu




Question Mo : 17 of 26 Marks: 1 (Budgeted Time 1 Min) =

Let x be the length, width and height of a cube. The area of bottom willbe . ... . .. : ‘

Answer | Please select your correct option )

" A=7
- A=x+x
Yeade By: Wadger Siddhu




Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min) =

A double intepral and iterated mtegral become identical prowided that the integrand iz . .

-

. over the given rectangular region.

Answer | Please select your correct option )

Bounded
-

Discentinuous

Centitmous

Defined

Yeade By: Wadger Siddhu




Question Mo : 19 of 26

Marks: 1 (Budgeted Time 1 Min) =

FR={{ry) 0Lz 2and 12y i4) then ﬂ(éf +4pfdd = ..

-

Answer | Please select your correct option )

(62" + dxy”)edvdx

(= S

|

4
J (62° + Axy Jadxaly

9]
I

2
J (6x° +4xy” )dxdy

O
s v

I } j (62" +dxy” ) dxdy

Yeade By: Wadger Siddhu




Question Mo : 20 of 26 Marks: 1 (Budgeted Time 1 Min) =

-

FR=((x)):0<x<4and 0<y<0) then ﬂ(zx—4xﬁ)m= .........

Answer | Please select your correct option )

Io :[ :[ (3% — 4o )y

9
J (3 — dx. o )dxdy

9]
[

a
J (3%~ dx. o ddxdy

O
PE

I :[ :[ (3x - dx [ )dydx

Yeade By: Wadger Siddhu




Question Mo : 21 of 26 Marks: 2 (Budgeted Time 4 Min) =

-

Civen, & XE; =3m+2yi+xk and =T+ Ayic . Find scalar triple product of these vectors.

Answer | Please click here to Add Answer )

INnrmaI A [rial | [

i Weade By: Weadgelr Siddhu



Question Mo : 22 of 26

Marks: 2 (Budgeted Time 4 Min) =

Let the finction f(x,)) 13 continueous in the region B shown below.

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
INnrmaI ;IIAr\aI ;”12 LI B I HH%E :

Weade By: Weadgelr Siddhu



Question Mo : 23 of 26

Find Gradient of the following finction
flx =2 +dnt =y

Marks: 3 (Budgeted Time & Min) =

-

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial = H B raE= s

2

Weade By: Weadgelr Siddhu



Question Mo : 24 of 26 Marks: 3 (Budgeted Time & Min) =

-

Ewaluate the following double integral
H[x + 2y2) dx dy

Answer | Please click here to Add Answer )

D@ SR ] o [ ]5L w  E [ows]]
[Formet = [#ra == =liszo|Ee==cE ==

i Weade By: Weadgelr Siddhu



Question Mo : 25 of 26 Marks: 5 (Budgeted Time 10 Min) =

Let f(x,») = x° + 3y — 32y and R is the triangular region with vertices O(0, 09, A(2, 0) and B(2, 4). Find the critical points along the line segment OB at which the absolute extrema of f(x,3) can

[elnnibig

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial o | EFEEE = =

i Weade By: Weadgelr Siddhu



Question Mo : 26 of 26

28

Evaluate the integral JJcosdexdy.

Marks: 5 (Budgeted Time 10 Min)

-

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial = H B raE= s

2

Weade By: Weadgelr Siddhu



Question Mo : 22 of 26

2

Marks: 2 (Budgeted Time 4 Min)

X
1
y=g0%

1 2 3

In the following ecuation, replace question mark () with the correct value.

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial o | EFEEE = =

Weade By: Weadgelr Siddhu



Question Mo : 22 of 26

1 2 E

In the following ecuation, replace question mark (7) with the correct value.

[ renaa=| | re»

Marks: 2 (Budgeted Time 4 Min)

?

Answer | Please click here to Add Answer )

DmEaR|f aE|s =] ilcl 16 o]
Jriormal A [rial = H B raE= s

2

Weade By: Weadgelr Siddhu
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